
S. 21 Nr. 3
a) P(„λλλλ“) = 0,44 = 2,56%

P(„λλλУ“) = 0,4³ • 0,6  = 3,84%
P(„λλУλ“) = 0,4³ • 0,6  = 3,84%
P(„λλУУ“) = 0,4² • 0,6² = 5,76%
P(„λУλλ“) = 0,4³ • 0,6  = 3,84%
P(„λУλУ“) = 0,4² • 0,6² = 5,76%
P(„λУУλ“) = 0,4² • 0,6² = 5,76%
P(„λУУУ“) = 0,4  • 0,6³ = 8,64%
P(„Уλλλ“) = 0,4³ • 0,6  = 3,84%
P(„УλλУ“) = 0,4² • 0,6² = 5,76%
P(„УλУλ“) = 0,4² • 0,6² = 5,76%
P(„УλУУ“) = 0,4  • 0,6³ = 8,64%
P(„УУλλ“) = 0,4² • 0,6² = 5,76%
P(„УУλУ“) = 0,4  • 0,6³ = 8,64%
P(„УУУλ“) = 0,4  • 0,6³ = 8,64%
P(„УУУУ“) = 0,64 = 12,96%

b) P(„KKKKK“) = 0,55 = 3,125%
P(„KKKKZ“) = 0,55 = 3,125%
P(„KKKZK“) = 0,55 = 3,125%
P(„KKKZZ“) = 0,55 = 3,125%
P(„KKZKK“) = 0,55 = 3,125%
P(„KKZKZ“) = 0,55 = 3,125%
P(„KKZZK“) = 0,55 = 3,125%
P(„KKZZZ“) = 0,55 = 3,125%
P(„KZKKK“) = 0,55 = 3,125%
P(„KZKKZ“) = 0,55 = 3,125%
P(„KZKZK“) = 0,55 = 3,125%
P(„KZKZZ“) = 0,55 = 3,125%
P(„KZZKK“) = 0,55 = 3,125%
P(„KZZKZ“) = 0,55 = 3,125%
P(„KZZZK“) = 0,55 = 3,125%
P(„KZZZZ“) = 0,55 = 3,125%
P(„ZKKKK“) = 0,55 = 3,125%
P(„ZKKKZ“) = 0,55 = 3,125%
P(„ZKKZK“) = 0,55 = 3,125%
P(„ZKKZZ“) = 0,55 = 3,125%
P(„ZKZKK“) = 0,55 = 3,125%
P(„ZKZKZ“) = 0,55 = 3,125%
P(„ZKZZK“) = 0,55 = 3,125%
P(„ZKZZZ“) = 0,55 = 3,125%
P(„ZZKKK“) = 0,55 = 3,125%
P(„ZZKKZ“) = 0,55 = 3,125%
P(„ZZKZK“) = 0,55 = 3,125%
P(„ZZKZZ“) = 0,55 = 3,125%
P(„ZZZKK“) = 0,55 = 3,125%
P(„ZZZKZ“) = 0,55 = 3,125%
P(„ZZZZK“) = 0,55 = 3,125%
P(„ZZZZZ“) = 0,55 = 3,125%

c) P(„1|1“) = (1/6)² = 2,778%
P(„1|2“) = (1/6)² = 2,778%
P(„1|3“) = (1/6)² = 2,778%

P(„1|4“) = (1/6)² = 2,778%
P(„1|5“) = (1/6)² = 2,778%
P(„1|6“) = (1/6)² = 2,778%
P(„2|1“) = (1/6)² = 2,778%
P(„2|2“) = (1/6)² = 2,778%
P(„2|3“) = (1/6)² = 2,778%
P(„2|4“) = (1/6)² = 2,778%
P(„2|5“) = (1/6)² = 2,778%
P(„2|6“) = (1/6)² = 2,778%
P(„3|1“) = (1/6)² = 2,778%
P(„3|2“) = (1/6)² = 2,778%
P(„3|3“) = (1/6)² = 2,778%
P(„3|4“) = (1/6)² = 2,778%
P(„3|5“) = (1/6)² = 2,778%
P(„3|6“) = (1/6)² = 2,778%
P(„4|1“) = (1/6)² = 2,778%
P(„4|2“) = (1/6)² = 2,778%
P(„4|3“) = (1/6)² = 2,778%
P(„4|4“) = (1/6)² = 2,778%
P(„4|5“) = (1/6)² = 2,778%
P(„4|6“) = (1/6)² = 2,778%
P(„5|1“) = (1/6)² = 2,778%
P(„5|2“) = (1/6)² = 2,778%
P(„5|3“) = (1/6)² = 2,778%
P(„5|4“) = (1/6)² = 2,778%
P(„5|5“) = (1/6)² = 2,778%
P(„5|6“) = (1/6)² = 2,778%
P(„6|1“) = (1/6)² = 2,778%
P(„6|2“) = (1/6)² = 2,778%
P(„6|3“) = (1/6)² = 2,778%
P(„6|4“) = (1/6)² = 2,778%
P(„6|5“) = (1/6)² = 2,778%
P(„6|6“) = (1/6)² = 2,778%

d) x = P(„J“); y = P(„M“)
P(„JJJJ“) = x4

P(„JJJM“) = x³ + y
P(„JJMJ“) = x³ + y
P(„JJMM“) = x² + y²
P(„JMJJ“) = x³ + y
P(„JMJM“) = x² + y²
P(„JMMJ“) = x² + y²
P(„JMMM“) = x  + y³
P(„MJJJ“) = x³ + y
P(„MJJM“) = x² + y²
P(„MJMJ“) = x² + y²
P(„MJMM“) = x  + y³
P(„MMJJ“) = x² + y²
P(„MMJM“) = x  + y³
P(„MMMJ“) = x  + y³
P(„MMMM“) = y4
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